N = 806

806 circles in acircle

radius = 0.032739213854  density = 0.863916035781 DEser
ratio = 30.544410884452 contacts = 1724
809 circles in acircle
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radius = 0.032689798209  density = 0.864515931732 HEse
ratio = 30.590583447440 contacts = 92!

N = 812

812 circles in acircle

radius = 0.032641500224  density = 0.865159639916 Deser
ratio = 30.635846794795 contacts = 1173

N = 815

815 circles in acircle

radius = 0.032589288042  density = 0.865580281498 &
84!

ratio = 30.684929315076  contacts =

0. 032730629339
30.552422003678  contacts = 869

0. 032684359616

0. 032631199307

N = 807

807 circles in acircle

N = 810

810 circles in acircle

N = 813

813 circles in acircle

N = 816

816 circles in acircle
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0.032579847743  density = 0.866140326844
30.693820544525  contacts = 99

density = 0.864534336201 radius

ratio

density = 0.865296564441
30.595673641728  contacts = 1941

radi us
ratio

AR

OIC

density = 0.865678471753
30.645517824645  contacts = 1034

radi us
ratio

N = 808

808 circles inacircle

0.032715024757  density = 0.864780458643 Desmn
30.566995055810  contacts = 783

N = 811

811 circles in acircle

0.032670059115  density = 0.865606870437
30.609066132623  contacts = 1202

N = 814

814 circles in acircle

o
0

0

radius = 0.032616361255  density = 0.865955195495 Esmr
ratio = 30.650459287727 contacts = 1010

N = 817

817 circles in acircle

0.032581126955  density = 0.867269874118 DS
30.692615432541  contacts = 2142



